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 تركي

 محيط الدائرة
 

 
 

 ط نـق 2(  هح = 1)

 سن 1511 ≈ 214×  3114×  2=             

 

 قط (  هح = 2)

 هلن 88 ≈ 28× !خطأ=             

 

 قط (  هح = 3)

 سن 417 ≈ 115×  3114=             

 

 

 
 

 ط نـق 2(  هح = 4)

 سن 2614 ≈ 412×  !خطأ×  2=             

 

 ط نـق 2(  هح = 5)

 م 2414 ≈ 12× 3114 × 2 =            

 

 قط (  هح = 6)

 هلن 22 = 7× !خطأ=             

 

 

 

 
 ط نـق 2(  هح = 7)
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 تركي

 سن 22=  !خطأ×  !خطأ×  2=  2!خطأ×  !خطأ×  2=             

 

 ط نـق 2(  هح = 8)

 م 7418=  117×  22×  2=  1119×  !خطأ×  2=             

 

 ( هح = ط ق9)

 هلن 1813=  !خطأ×  !خطأ=  5!خطأ×  !خطأ=            

 

 
 ط نـق 2(  هح = 11)

 سن 3815=  !خطأ×  !خطأ×  2=  6!خطأ×  !خطأ×  2=             

 

 قط (  هح = 11)

 سن 54195=  1715×  3113=             

 

 ط نـق 2(  هح = 12)

 سن 5718=  912×  4114×  2=             

 

 
 ( هح = ط ق13)

 م 16 ≈ 1611=  !خطأ×  !خطأ=  5!خطأ×   !خطأ=              

 

 ط نـق 2( هح = 14)

 سن 26 ≈ 251748=  411×  3114×  2=              

 

 ( هح = ط ق15)

 هلن 185 ≈ 185126=  3114×  59=              

 

 
 

 نـق× ط ×  2هح =  (  17)                                  ( هح = ط ق               16)

 نـق 3114×  2=  55                                       ق              3114=  32        

 نـق 6128=  55م                    1112 ≈ 11119=  3114÷  32ق =          
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 تركي

 سن 818 ≈ 8175=  6128÷  55نـق =                                                                                  

 

 

 
 

 ح = ط قه        

 م 63 ≈ 6218=  21×  3114=              

 

 

 

 

 

 

 

http://www.almanahj.com/sa

